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Question 1 (4 marks)

a.

Using the chain rule:
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Using the quotient rule:
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Question 2 (4 marks)
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b.

A1

Question 3 (2 marks)

M1

A1

Question 4 (5 marks)
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Question 5 (6 marks)

a.

correct intercepts A1
correct endpoints A1

correct shape A1

b.
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Question 6 (7 marks)

a. probability density function → area = 1

b.
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c.  is a probability density function.

M1

Substitute eq. 1 into eq. 2.

A1

Substitute  into eq. 2.

A1
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Question 7 (5 marks)

a.

A1

b.
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Question 8 (7 marks)

a.
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b.
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c. i.

Using the chain rule:
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